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‘Give a m» to him’, and he died; they should give it after death

OVERVIEW

Our mwn distinguishes between 7w v and MNW WY (on one hand) where there is
no giving nn°n XY, and regarding money (on the other hand) where we give it
7 nR?. There is a dispute in the X3 regarding the X9°0 (concerning money),
whether the mwn is discussing a X2 with l]ﬂW’?W Tavn (the view of 7°21 27), or
whether the 7wn is discussing a vy 2w (the view of X995 27). Our nNBOIN
discusses whether this dispute is also in the Xw"1 regarding 7wRX) 72v.
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It is not necessary to assume, according to the one (7°27 27) who establishes this

case (of 11997 7131 11n), by a healthy person and it was given Jnww Tapn»s -
—ANUbY 18ma 399N 33 NYH TTHT

that according to 7°21 27, the Xw"1 regarding w1 72V is also in a case of '» Tayn.

mdoIN explains how the X1 could have been a case of w'"nyn:*
- 573 Ay TOOW KY 11993 1959X P2 199X ONT *PYPa 935 VINY 2990

And we would need to be discussing a case where the v is already present, for

if the V3 is not present, then even by money the rule of @w''»y» is not applicable
in a similar case (where the money is not 1v2) —

mMooIn adds an additional requirement for it to be considered w'"nyn:
- 7‘[:: NN NYNRNY 9N

! InwHw Tayn (in the presence of all three) is a method by which one may transfer his assets (which are in the
possession of a third party) to another, without the recipient making a 7°1p; provided that the benefactor, recipient
and the one possessing the item are all present at the transfer. See the X3 later (on '2 TnY).

* If the benefactor did not say *1175% 7 110 in the presence of all three, the benefactor may rescind the transfer since
he is a 872 and no 1°3p was made (it was merely a statement); however if the transfer took place Jnw2w Tayn3, then it
effectively belongs to the recipient from that moment onwards.

? One might assume that the X1 and the X2°0 are all discussing the same situation (except [obviously] the explicit
differences), therefore since the ¥9°0 is '3 72y the Xw>1 is '3 Ta¥yn1 as well. MmN negates this.

*If the xw™ could not be (even conceptually) in a case of w"»yn, then there is no point in negating it.

> It is (already) in the possession of the m9w (to whom he is saying n).

% There is a dispute later in the X723 (on the '3 71y) whether w"nv» is only by 1175 where there is a tangible object to
be transferred, or it applies even to a M7 where we are merely transferring the T2yw (the obligation of the m? to
pay), however here by 3 if there is no v3 in the hand of the 5w (and certainly if the vx was not written yet), then
there is nothing at all that can be transferred through w"nyn.

7 There cannot conceivably be a 737 of w"nyn if the recipient does not want it. See ‘Thinking it over’.
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And we are also discussing a case where the woman wants this; she wants the v.

mdoIn explains in such a case why indeed is w"nyn not effective by (7237) Awx:
- 8]1)3)::1 NION T0VA /) 10919 1PN RIT 19¥IYN)

And the mwn teaches us that the 0201 did not institute w''»y» by a transfer
which requires a qvw, they only instituted w"nyn by transferring money —

All this could have been assumed; however mdoIn rejects this:
= PHINNT XYL DINMNINRN IPINIY "N INT

For it does not seem likely that these 2389128 should argue regarding the xw>9

of our mwn -
= 9999 NPT NOYDA NIN 1) 1aN92 99 INYHY myna NY P e

Where 7°21 271 would establish the Xv"1 also w''»p»2 and X955 27 would establish
it in a case of 1M 2an> (by a n"2w and no ¥"nyn), but rather they argue only in

the X290 exclusively -
= INVOY YN 7Y RYT X923 1Y 2PIT INPYD IDION 13 13093 10010 XYW 991

And according to all the 2°X71X the Rw"n is discussing a case of 11N 120> (even
according to 721 27 who established the X5°0 by a X%92), where the concept of
w''nyn is not applicable.”

Moo responds to an anticipated question:
- YINY PR TROYDT NIIT NI 91 KT 23 Yy N)

And even though the X4 is not similar to the 82°® (according to 7°21 27), it
should be of no concern -

= 99 D913 NOYOT NIIT XYY 9N NI ¥999 255WA 1Y P1NT INNIY 933 1507
For this is also true according to X595 17 who established the x5°0 by a »''>w,

where the X2"1 is not completely similar to the 820, either -
- Po5ya 939 XA 73nm 1Y MsnYs Faviva 198 90unY

Since in the X" the (MY 1) v does not exist when the n">% commands to

8 The xmx will later (on the "2 TmY) state that w"nyn is a RAYL X723 XNo9h; it was made to facilitate business
arrangements, however it is limited to money transactions only.

’ We find the npomn of the XK (namely 7°271 21 and 895 27) only in the X5°0; indicating that in the xw™ there is
no dispute. N19OIN previously taught the we are not 71" ©713; it cannot therefore be discussing w"nyn, for it is not y2.
19 93m 1202 means that the vx does not exist yet and the concept of w"nyn is totally inapplicable (even if it was
money).

' The x°0 is in a case of w"ny» as opposed to the X&) (see footnote # 3).

12 See previous KA 71"7 Moo, that we are not AT’ 071; meaning that the bW is not present. See “Thinking it over’
#2.

" See our X113 where 27 qualifies the 71w that the money is present.
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give it, however in the X5°0, the money already exists —

Mmoo anticipates a difficulty:
- 15923 599N NOYDT NWIII N2 NIMIAT 22 9 9N

Even though the X973 proves from the X2 that the 820 is discussing a X2 -
— NYT NIIT NOYD MNDT dy¥a NN

It is evident that we require that the X2°0 be similar to the xws-!

mooIn responds:
= N92) T2 NP1 MIPINT )7 HONT DIVN 139N

This is because it is proper that we establish the entire 71wn with the same
person (he is either a X712 or a n"oW) -
299209 173WUNY K3 XY 01P1 Yan YaN

However it is not necessary to make them completely similar; that both are by
w"nyn (and that the VW is present)!

SUMMARY
w'"nyn is effective only by 117 but not by 0w.

THINKING IT OVER

1. Mmoo states that the purported case of JnWSW ¥ by 7wX would be (only) in a
case where the woman wants the v3."” Seemingly this is not understood,'® why is it
necessary that she should agree, since 1"217°) can take place even against her will?!

2. mpoIn states that according to "1 that we are discussing a n"2w, the ¥9°0 (where
the money is 7°v2) is not similar to the X2 where the 0w is not pya.t’ Why is it
more assumable that the Xw™1 is discussing a case where the W is not V3,
according to 8", than it is according to 721 21?'®

' 3221 27 on the 'a Ty proves that the 71wn is not discussing a »"2w. For in the Xw it states that we do not give it
7N XY, inferring that o»nn we do give it, provided that he said 1n. However if it was a "> then we should give
it o> even if he only said 12n3, since 7 0°710M21 2°211023 1"2W >127. This however merely proves that the Xw1 is
not discussing a n">w, it seemingly does not prove anything regarding the X5°0 unless we maintain that the X271 and
X9°0 have to be similar. This contradicts what N1901n maintains.

1% See footnote # 7.

'® Regarding a transfer of money it is understood that the recipient must agree for one cannot force anyone to accept
money against his will; however w17 is effective even 2"va.

' See footnote # 12.

'® See n"m1 and 137 MK *"92.
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